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THIRD SEMESTER
CIVIL/CTM
SCHEME.JULY 2008
HYDRAULICS
Time : Three Hours Maximum Murks - 100

Note : i} Attempt total 3 questions out of eight.
T w16 § W uia we ga S
i1} In case of any doubt or dispute, the English
version question should be treated as final,
fasedt oft R ¥ Wig s Rag H Ry
# afislt v & wew @Y 3w S

1. a) Write the units of dynamic and kinematic

viscosity. 3

TR T gl B AT A s R
b) Write Newton's law of viscosity. 3

A B e & faw ke .
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¢) Differentiate specific weight and specific gmu}“.-; 6 'c) A rectangular tank 5m=2m contains water upto
¥MUTarp e 7en IS vy & of a depth of 3m. Calculate the hydrostatic forces
d . ¥ o WI on each of its sides. 6
: ?pm 300m long has a slope of 1:100 and lai;g;s o 5 <2 0 ¥ arrarER E A4 3 @ TR
6::;:un 1(:;.0 cm diameter at the higher end to % Ut oWy F1 S AT 9 W o9 S
- ¢m diameter at the lower cpd, Quantity of
water flowing through the pipeis 0.1 cumisee, IF T B o R
the pressurc at the Jower end is 100kN/m2, find d) Describe inverted differential manometer with
the pressure at the higher end. ’ 3 sketch.
WNUﬁﬁﬁmgqﬁmmm%lmwam Hﬁmﬁﬁﬁ%wmﬁm&haﬁﬁaﬂh1
R 150 Wt ot Fracy RRY qe zgry 65 iy FIRA 5
i urdg ¥ § s
K ﬁa;s;?éqﬁﬁwo'l B 3. a} Whatis siphon pipe? 3
& R 100 5y, /et st gy oy AT T 7 &7 :
YR A o b} Definc hydraulic jump. 3 g
2@ Whatis centre of pressure 7 3 wrEeTe B R SRR
2T Fg qr &7 ¢) Compare venturimeter and orifice meter. 6
gt Hiex T iiftva iex & gaeT Hem

b} Aliquid ofsp. gr 0.8 is filled in atank up to the

: s N Cis75m. th
height of 2 m. Caleyfate the pressure o Fliquid in d) The diameter of a cylindrical tank is 2.5 m. the

watcer 1s filled up to 4m height in it. An orifice

tank in terms of wat
. :,v - 3 ol diameter 5 cm is in the bottom of this tank.
o & i 24, T 9% 0.8 Iifai T The coefficient of discharge of orifice is §.65.
TR 81 3 ¥ gq % g oy AT O & Calculate the time required to lower the water
3 Fifemn level 3.6 m, 8
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) 5% JTIRER S 6 @ 2.5 A, 1 et 4 o W 150 fAr. ’ﬂ-m“_ﬁmwmﬂ'mﬁ
S @ AR T 1 Gt et 5 ot é.mwmﬁﬁaﬁ%amwﬁﬁ
1 S T 1 S a1 o e ¥ gen A Pk o @ & o
D.GS%Jéaaﬁinﬁarrmuﬁvﬁ.mmff Wwdqﬂiﬁﬁﬁilﬂ.wél‘uﬁ
W T e W ) e o ot £ 0.01 21, h R e EPra e
R g T & R 7 Ffow
4. a) Why centre of pressure is below ’

the centre of
ravity ofimmersed surface?
&l &

3 5. a)  Whatis water hammer? ’i_
@ﬁmmm&amgw%ﬁﬁﬁ ST T £? g:
i &? b) What is total encrgy line? z
b)  What is laminor flow? _ 3 - f Y @ 27 %
W g ? - &
e ¢} Compare Notch and weir. £
¢} Define flow net, Write its uses. 6 e e & EiRn ‘
AR S afearfie S FF I d) A rectangular channel is 4m deep and 6 m wide.
e It is running fuil of water. Ifthe slope ::-jf b(:mm
; e discharge
d) A pipe 150 mm diameter and 100 long is of channel is I:]OOQ: theléf‘;;mmmt 15¢ 38
connected to a tank at one end and other end js by chezy formula, Take C= R,
discharging freely into the atmosphere. Water U AT 8% 4 7, Mg awn 6 o, i
level in the tank is 5m above the centre line of 7 olt | oft 9 @ @1 o A ¥ 9w A
the pipe. IF frictjon factor is F= 0.0, find oyt 1000 & @ o X faast =
the discharge through the pipe considering major aurar 1_' .
losses only. 8 e ¢ =503
Fi2014/6174
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6. a) Write continuity equation. 3
wiac witewr il
'b) Write the uses of reciprocaling pump. 3
srcarrdt aea ¥ SR ferf
¢) Classify turbines. 6
st @ g B
d) Describe in brief centrifugal. Pump with sketch.
S e ol o wfRa wa § v Hiforn
7. a) Whatis Venturiflume? 3
gt T 27
1) State the formula for experimental determination
of Cv of orifice. 3
i &1 Cv e Fufe 1 1 TR
¢) Writethe advantages of triangular notch. &
BrereR A9 B @™ forfe
dy A 1200 triangular notch is discharging water
under a head of 30cm. The water is collected in
a cubical tank of 1 m side. 1fCd for noteh is 0.62.
find out the time required to fill up thetank. 8
Ea14/6174 Contd.....
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3a .
et o B 1.01%.q§mmﬁ!¢aqﬂw

ﬁ@ﬁﬂmwélﬁﬂmca 0.62
aﬁmﬂﬁaﬁaﬁwﬁmﬁﬁiﬁr

a) What is the effe

ot of end contraction on the

discharge of weir?

ﬂmqi.grﬂﬂaﬂawai

by Why piczometer js not used

ﬁaﬁmwmﬁ?

for measuring very
3

high pressure?

mmmﬁﬁ%ﬁmﬁam

i = A& e et 87
¢) Define (d,Cv and Cc.

¢d,C
dy Compa
Eucan
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re cenirifugal and reciprocating pump. 8
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